Write the equation of a line parallel to a given line.*
Write the equation of a line perpendicular to a given line.*
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Words

Symbols

nce -Intercept Form

The slope-intercept form Model
of the equation of a line

is y= mx + b, where m

is the slope and b is the

y-intercept.

y=mx+b

slope 41 L y-intercept

y=mx+b
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" KeyConcept Point-Slope Form

Words The point-slope form of Symbols slope
the equation of a line is
¥— ¥, = m(x — x,), where
(¥,, ¥,) are the coordinates of
a point on the line and m is

the slops of the line. coordinates of a point on the line

Follow directions for form: if not specified, then you can decide.

2 (5) 4 mx©)
y=9= 2 (x -3



Whiteboards

Example 2

Write an equation of the line through (6, —2) with m
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GuidedPractice

Write an equation in slope-intercept form for the line described.

1
2

2A. passes through (2, 3); m = 2B. passes through (=2, =1); m = =3



KeyConcept Parallel and Perpendicular Lines

Parallel Lines

/H_
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ry=2x—‘l |

y=2x+5and y=2x-1

]/ y=—%x—4
el

y=3x+2andy=—%x—4
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4. Write an equation in slope-inter : ine that passes through (3, 7l)a:1d
is parallel to the line with equatipn y = %
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. passes through (4, —10), parallel to y@ %



6. passes th

vh (—9, —3), perpendicular to y %
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23. passes through (4, 2), perpendiculartoy = —2x + 3
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